When adding and subtracting 4 digit numbers we
usually round to the nearest 100.

4567 + 2212 = 4547 - 2262 = 4547 - 1942 =
4600 + = 6800 4500 - = 2200 - =_
3727 + 2162 = 6427 + 1932 = 6651 - 2342 =

+ = + = = —

When multiplying a 3 digit number by a 1 digit number
we only round the 3 digit number to the nearest H

417 x5 = B57 x5 = 416 x 4 =

When dividing a 4 digit number by a single digit number we
round to the nearest H that is the closest multiple of the
number we are dividing by.

1332/ 4 = 1847/ 5 = 1747/ 5 =
/4 =300 /=400 /=
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